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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, APRIL 2016.
III YEAR — VI SEMESTER

Major XVII — MANAGEMENT ACCOUNTING
Time : 3 hours
    



Max. Marks : 75

SECTION A — 10 × 2 = 20 marks)

Answer any TEN questions.

1. What is Management Accounting?

2. What are the types of financial statements.
3. What are the types of Ratio analysis?

4. What is meant by budgetary control?

5. What is payback period?

6. From the following particulars, prepare the common size income statement

	Particulars
	2006

`
	2007

`

	Sales


Cost of Sales

Gross Profit
	10,00,000

8,00,000

2,00,000
	16,00,000

12,00,000

4,00,000




7. To compute the operating profit



Cost of Sales

` 3,50,000



Operating expenses
` 1,20,000



Net Sales

` 8,00,000

8. Find out the Net Profit Ratio

Sales


`5,40,000

Sales Returns
` 40,000

Net Profit

` 1,40,000

9. Prepare Production Budget for the Quarter ending 31st March 2004:

Tons.



Budgeted sales for the Quarter

40,000



Stock on 31st Dec. 2003


  8,000



Required stock on 31st March 2004
10,000

10. Fixed cost at 50% activity level is ` 20,000. What will be the fixed cost at 60% and 80% activity levels?

11. Compute the payback period for the following

Original investment
` 15,000

Annual cash inflow
` 7,500

12. Calculate Average Rate of Return on original investment method

Original investment


` 10,00,000



Annual average net earnings
` 2,00,000
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Distinguish between Management Accounting and Financial Accounting.
14. Bring out the benefits of Ratio Analysis.
15. The following are the extracts from the income statements of Bright Ltd, for the 2 years ending 1995. You are required to calculate trend percentages taking 1994 as the base year and give two major conclusions you can draw.

                   (figures in thousands)

	Particulars
	1994
	1995

	Sales


Cost of goods sold

Office expenses

Selling expenses

Net profit/loss


	300

180

  40

  20

  60
	340

204

  42

  25

  69


16. Calculate Gross Profit Ratio from the following figures

`

Sales



10,00,000


Sales returns

  1,00,000


Opening stock

  2,00,000


Purchases


  6,00,000

         Purchase returns
 
  1,50,000

         Closing stock
       
     65,000 

17. You are asked to compile a working capital statement

	Particulars 

	   1-1-1999       
	31-12-1999

	 Outstanding rent


 Cash in hand

 Cash at Bank

 Accounts payable


 Accounts receivable

 Prepaid expenses


 Inventories
	   8,000

   4,000

12,000

20,000

30,000

   4,000

22,000
	12,000

8,000

15,000

26,000

  34,000

------

27,000




18. You are required to prepare a production budget for the half year ending June 2000 from the    

  following information:

	Product
	Budgeted sales

quantity
	Actual stock

on 31-12-99
	Desired stock

on 30-6-2000

	S

T
	units

20,000

50,000
	units

4,000

6,000
	units

5,000

10,000


19. A project costs ` 15,60,000 and yields annually a profit of ` 2,70,400 after depreciation of 12% p.a. but before tax at 25%. Calculate pay-back period.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.

20. The following figures relate to the trading activities of a company for the year ended 31-12-1987.

	Particulars
	`
	Particulars
	`

	Sales

Purchases

Closing stock

Sales returns


Dividend received

Profit on sale of fixed assets

Loss on sale of shares

Opening stock





	1,00,000

70,000 

14,000

4,000

 1,200

   600 

   300  

11,000


	Salary of salesmen

Advertising

Travelling expenses

Salaries ( office )

Rent

Stationary

Depreciation

Other expenses

Provision for tax

	1,800

   700

   500

3,000

6,000

200

1,000

2,000

7,000



You are required to calculate

(1) Gross profit ratio

(2) Operating profit ratio

(3) Operating ratio


(4) Net profit ratio

21. Draw up a flexible budget for production at 75% and 100% capacity on the basis of the following data for a 50% activity.

	                                                                                               Per unit(`)
Materials







                 100

Labour








          50

Variable expenses ( direct )




  
          10

Administrative expenses ( 50% fixed )


            40,000

Selling and distribution expenses ( 60% fixed )
  
   50,000

Present production ( 50% activity ):



     1,000 units


22. From the following data you are required to calculate the cash from operations:Funds from operations for the year 1998 ` 84,000. Current assets and liabilities as on

 1-1-98 and 31-12-98 were as follows:

	Particulars
	1-1-98

`
	31-12-98

`

	Trade creditors

Trade debtors

Bills receivable

Bills payable

Inventories

Trade investments

Outstanding expenses


Prepaid expenses
	 1,82,000            2,75,000

  40,000

 27,000

1,85,000

                    40,000                         20,000

        5,000
	1,94,000

3,15,000

35,000

31,000

1,70,000

70,000

25,000

8,000


23. Each of the following projects requires a cash outlay of ` 10,000. You are required to suggest which project should be accepted if the standard pay-back period is 5 years.
	
	Cash inflows

	Year
	Project X

`
	Project Y

`
	Project Z

`

	1

2

3

4

5
	2,500

2,500

2,500

2,500

2,500
	4,000

3,000

2,000

1,000

-
	1,000

2,000

3,000

4,000

-


———————



[P.T.O.]
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